
H. ffn ,y) = ntyn
'

, 12,27 , C- 1.47

f. (2,27=2 -124
= 18

fl - 1,47=-1-4
= - S

B . hln,y , 2) = nyz
-2

=nyz2

ht 3,8,2) = 3×8/-2=6
*

1h13
,
-2
,
- 6) = 34×-2-1 '

36-12/6
= -

' 16



7) fin ,y) = Incan'- y)
o

( 1,4)
,

C- I , 47

14,16 ) l - 4,167
(-n,4n)Cn,4n7 ¢ in,y)

( 0,0)

2D fcn,y7 = 12 - 3 n - 4g

fin ,y)
= n' + 4y2



14.2
a) win
in
,g)→ (2,53=9199

) - 2 Him ,y))

I f- - 2137

ID him
in,y)-42,5)

e9- F = e.
2

=

Is) fin,y7=n3ty3 →

ny
'

himn3+m3n3n→0NCMZN)3

him n$Cltm3)
n-70



= 1tm3
m2

'

.

- it depends on m , the limit
doesn't enist .

21) tim
Cny)-310,0) ny3n2t2y2
Let y

- on

him cuz
neo ¥zn2

win c-
n-70 3 -12C 2

=L the limit
3 -12C 2 doesn't

exist



④n.biz#o.o.oin7IyhF
At 10.90-50.5)

=

1.5-0.75=2
At 101,0-1,017 = 0.30-03

= 10

At CO -01,001,001) = 100



27) timC3W1-sc-2.DZ4icoscnwy@ZtwAtC-2.D
16 C- 1) e

= - Ibe
=

3D him
in,g) → 13,47 n¥2

=L
5

35) wincn.yp.cz#gCn2y3t4ny)
91-8) t 416)

= - 48


